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PEEEL EIHH ME iR (nf) %4 Hi RN
R CL|

1B [ZB5 (1) Wee 2 AV 45.5 | 1,470
n [EbR= (1) e XAV 18.0 [ 1,470
1| ZBH(2) g XAV 15.3 [ 1,470
- JEBREE (2) Wiags A AV 21.0 | 1,470
IR v BIONEE [V~ yh 267.5| 1,470
LS g XAV 26.3 | 1,470
I | &ML Mg XAV 26.3 | 1,470
I |G L ERIE 3.0 | 1,470
1 |ELVA—)L AANH—~"yh 3.0 1,470
o ieE) e XAV 16.5] 1,470
n AREE (1) AR 11.0 | 1,470
- ieEE(2) fsias XAV 16.5| 1,470
1y AREE (2) AR 11.0 | 1,470
TES 16 ERTE 105.5 | 1,470
- [EEEE(2) ERTE 105.8 | 1,470
N |PrRE ERTE 17.5 | 1,470
I R ERxTE 10.0 | 1,470
N | EARER T ERTE 6.3 1,470
| EARE T ERTE 6.3 1,470
A - ERTE 70.0 | 1,470
o oAt s—EEE [ BE R 35.0 | 1,470
I MR EEEEN [ERTE 64.0 | 1,470
I EZIN YN B ERTE 108.8 | 1,470
I EAS e XAV 10.5 [ 1,470
A RS e XAV 16.0 [ 1,470
N [ ALV A=~"yb 23.8 | 1,470
I E I ANV H—=~"yb 91.0 | 1,470
I |MLUEF e XAV 7.5 1,470
I MU 2T g XAV 7.5] 1,470
e B BE 7.5 1,470
PP BYEE 7.5] 1,470
IR e e XAV 45.0 [ 1,470
A ) e XAV 24.5 | 1,470
- IAREE (3) AREK 21.0 | 1,470
S S 5 33.0 | 1,470
| HEEMEEE & 19.3 [ 1,470
N |EREEE ERTE 45.0 | 1,470
JIE S ES ERTUE 34.5 | 1,470
) | EEEHEE ERTE 19.5 | 1,470
oMt |7V ERTE 20.0 | 1,470
) |E R ERTE 168.0 | 1,470
MU BT i XAV 26.3| 1,470
|t i XAV 26.3 | 1,470
1 |ELVE—/L ERT.E 3.0 | 1,470
N |Gl = ERT b 3.0 1,470
Il 2= (1) & 27.5| 1,470
J £ (2) & 17.5 [ 1,470
VLG 3% 5 17.5] 1,470
I |HI=E ERT b 24.0 | 1,470
N | HEAREE (1) ERT b 19.8 | 1,470
| HAREE (2) ERxT b 12.0] 1,470
) | BERERIE RIS (A=~ "yh 84.0 | 1,470
N gk E AANVH—=~"yb 24.0 | 1,470
| AANH—~"y b 9.0 1,470
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o2t |74 ERTLE 38.5 ] 1,470
TES ERTE 145.5 | 1,470
IS ERTUE 15.0 | 1,470
- WE¥EE ERTE 475 1,470
I ra=— BYEE 32.0 | 1,470
3pE mEK ERTE 76.0 | 1,470
1 |ELVA—/L ERTE 3.0 1,470
MU F Mg XAV 26.3 | 1,470
| MU s AV 26.3 | 1,470
I |G L ERIE 3.0 | 1,470
== ) AA V=~ "y b 48.0 | 1,470
)| == (2) AA W=~y b 36.0 | 1,470
)| == (3) ALV =~y b 56.0 | 1,470
ESiA[FEIN PX AL 126.0 [ 1,470
1 |BEEB PXA)L 110.3 | 1,470
N | _—X TIN—HA)L 5.4 1,470
Ozt 2699.9
EMNER (T 7 A0S R BE i REE L)
HEE-FIEEIIN ERT ¥V 796.5 30
% H R —L - BRI | A NH—~yh 348.0 30
Bk L= ERIE 9.0 30
TLAR—H S3—HA )L 5.4 30
S ERTE 270.0 30
R— L+ S BANH—~"y} 294.3 30
BBy PXA )L 236.3 30
ES 33.0 60
@3t 1428.9
AT A G (FF2) [ B 126.4 10
BH T AN (GE2) [Fl 227.4 10
A I A G (FF2) [FE{] 116.5 10
A7 A G (E2) (L] 122.6 10
@it 592.9
I EEf T (@ +0)
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